No discrete with continuous Parameter

Abbreviation

Discrete[1]

Description

This validation rule checks to make sure the «discrete» and «continuous» stereotypes are not applied to the same Parameter at the same time.
Severity

warning

Constrained Element

Parameter

Solvers

To fix this, leave only one «discrete» or «continuous» stereotype applied for the same Parameter at the same time.

Example
B £ Heat Water( recovered : Heat, cold dirty: H20, hotdirty: H20) 5 & Heat Water{ recovered : Heat, cold dirty : H20, hat dirty : H20 )

- 2 -hot dirty : H20 - & -hot dirty : H20
-+ 3 -recovered : Heat : - 3 -recovered : Heat
i.:@ in recovered : Heat «Continuouss «Discretes | * =2 in recovered : Heat «Continuouss
=0 cold dirty : H20 : = 2 in cold dirty : H20
-~ put hot dirty : H2O - 2 gut hot dirty : H2O
-] in cold dirty : HZ0 -] in cold dirty : H2O
-] in recovered : Heat ~ 81 in recovered : Heat
-] put hot dirty : H20 @] out hot dirty : H20

The recovered Parameter can have only one «discrete» or «continuous» stereotype applied at the same time.
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